1. FZER
(AL 0 %, WA H)
| H JT R 2 FE 1 Tk
B PE R R 2% =K 0.16 0.22 0. 06
QN A I A S 3.76 5.10 1. 34
T PE Y MR 2% R 0. 08 A 0.02 A 0.10
SN R P s 1.87 A 0. 49 A 2.36
() 1. REERENLEER = BEFILEHEPE (EBRGERIK A B <) SEBIF%E X 100
2. BEARENER = REFIE WG PERE 5% 5 X 100
3. KR PE Y HIMIR AR R
= MHIRIREe (BioI12) /G PE (B IRAER I 2 BR <) FH45% & X 100
4. BARYWMFGEE = YRR Bi5114) /6 E 5% 5 X 100
2. RrR=R - iTiER
(AL : %, RAH)
TH H T RE 2 R o] 4
‘ #H K 12. 72 13. 47 0.75
fr B =
B 13.13 13.33 0.20
Lo R 0.33 2.43 2.10
ke By 0. 52 1.57 1.05
(B 1. IFERGE R = JBHesks Mrefks X100
2. FEEWIREYE) = BNk e 5% S X 100
3. BmEER G R = FAiEEREE S Areskm X 100
4. JEEER IRE) = ARSI, ST X 100

- 77 -




